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A high marginal propensity to consume (b) increases the multiplier effect and 
a high marginal propensity to import (q) decreases the multiplier effect since 
some demand “leaks” abroad. With b=0.6 and q=0.4 the multiplier is 
1/0.8=1.25. 
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Some of the increase in demand is directed towards imports. 
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The effect of the real exchange rate depends on how large exports are relative 
to GDP, the price elasticity of exports, and the size of the multiplier.  
 

f) See calculation above. A real appreciation of one percent leads to a one 
percent decrease in production. 

 


